

Algebra HW 10

1  $\eta \subseteq A$  consist of all nilpotent elements. To show.

$$\eta = \bigcap_{\substack{P \subseteq A \\ \text{prime ideal}}} P$$

PF:  $\eta \subseteq \bigcap_{\substack{P \subseteq A \\ \text{prime ideal}}} P$  : Let  $a \in \eta \Rightarrow \exists k \in \mathbb{N}$  s.t.

$$a^k = 0 \in P \quad \forall P \subseteq A \text{ prime ideal.}$$

Now  $a \cdot a^{k-1} \in P \Rightarrow$  either  $a \in P$  or  $a^{k-1} \in P$

If  $a \in P$  we are done, if  $a^{k-1} \in P$ , continue this.

As  $k$  is finite, this process will terminate giving

$$a \in P \Rightarrow \eta \subseteq \bigcap P$$

To show  $\bigcap P \subseteq \eta$ . Let  $a \in \bigcap P$  but  $a \notin \eta$   
 $P$ : prime ideal

$$\Rightarrow S := \{a, a^2, a^3, \dots\} \quad \text{As } a \notin \eta$$

$0 \notin S$  and  $S$  is also closed under

multiplication. By problem 4, maximal ideal

$P_S$  which does not intersect  $S$  is prime.

But  $a \in \bigcap P \Rightarrow a \in P_S$  contradicting  $S \cap P_S = \emptyset$ .

Hence,  $a \in \eta$ .

PF for Pblm 4.

Let  $P_S$  be the maximal ideal among ideals which do not intersect  $S$ . Zorn's lemma guarantees existence of such an ideal. Let  $a, b \in R$ ,  $ab \in P_S$  let

$$a \notin P_S, b \notin P_S \Rightarrow P_S \not\subseteq (P_S, a) \text{ and } P_S \not\subseteq (P_S, b).$$

But as  $P_S$  is maximal ideal  $S \cap (P_S, a) \neq \emptyset$

and  $S \cap (P_S, b) \neq \emptyset \Rightarrow$

$$P_1 + ax = S, \quad P_2 + by = S \quad s, t \in S$$

$$\Rightarrow P_1(P_2 + by) + P_2ax + abxy = st \quad P_1, P_2 \in P_S, xy \in R.$$

Now LHS  $\in P_S$  and RHS  $\in S$  contradicting  
 ~~$P_S \cap S = \emptyset$~~  Hence,  $P_S$  is prime ideal.

3.  $n \in A$  nilpotent  $u \in A$  a unit. To show  
 $(u+n)$  is again a unit.

Pf  $(u+n) u^{-1} (1 - u^{-1}n + (u^{-1}n)^2 + \dots + (-1)^{k-1} (u^{-1}n)^{k-1})$  [  $k \in \mathbb{N}$  s.t.  $n^k = 0$  ]

$$= (1 + u^{-1}n) (1 - u^{-1}n + (u^{-1}n)^2 + \dots + (-1)^{k-1} (u^{-1}n)^{k-1})$$

$$= 1 + \cancel{u^{-1}n} - \cancel{u^{-1}n} - \cancel{(u^{-1}n)^2} + \cancel{(u^{-1}n)^2} + \dots + (-1)^{k-1} \cancel{(u^{-1}n)^{k-1}} + \underbrace{(-1)^{k-1} (u^{-1}n)^k}_{=0}$$

$$= 1$$

$\Rightarrow u+n$  have multiplicative inverse  $\Rightarrow u+n$  is a unit. ✓

6.  ~~$\mathbb{R}$~~  Let  $A = \mathbb{Z}$ ,  $B = \mathbb{Q}$ .  $p\mathbb{Z}$  is a prime ideal  
in  $\mathbb{Z}$ .  $f: \mathbb{Z} \rightarrow \mathbb{Q}$

However  $n \mapsto n$  is a ring homomorphism.

$$b := \langle f(p\mathbb{Z}) \rangle = \mathbb{Q} \text{ since } \mathbb{Q} \text{ is a field.}$$

Hence  $b$  is not a prime ideal of  $\mathbb{Q}$ . ✓

9.  $J := \{x \in A \mid \forall y \in A \ 1 - xy \text{ is a unit}\}$ .

To prove  $J$  is an ideal and  $J = \bigcap_{m \in \text{MCA}} m$   
 $m$ : maximal.

Pf:  $J$  is an ideal as If  $a, b \in J$ ,  $y \in A$

$$1 - (a+b)xy = 1 - ay - by$$

$$= (1 - ay) [1 - (1 - ay)^{-1} by] \quad [ \because a \in J ]$$

$$= (1 - ay) [1 - b(1 - ay)^{-1} y]$$

$$= (1 - ay) (1 - by')$$

as  $(1 - ay)$ ,  $(1 - by')$  are units.

Let  $r \in A$   $ra \in J$  as  $1 - ray = 1 - ary \in \text{units}$ .



Hence,  $J$  is an ideal.

To show  $J = \bigcap_{m: \text{maximal}} m$

Let  $a \in J$  and  $M$  be any maximal ideal.

If  $a \in M \Rightarrow \exists r \in A$  s.t.  $m' + ar = 1$   $m' \in M$ .

$\Rightarrow \underbrace{1 - ar}_{\text{unit}} = m' \in M$  contradicting  $M$  to be maximal.

Hence  $a \in M \quad \forall M$ -maximal ideal.  
i.e.  $J \subseteq \bigcap_{m: \text{maximal}} m$ .

Let  $a \in \bigcap_{m: \text{maximal}} m$ . Let  $x \in A$ , if  $1 - xa$  is not a unit,

then ideal generated by  $\langle 1 - xa \rangle$  is proper and contained in some maximal ideal  $m_x \Rightarrow 1 - xa \in m_x$ .

$\Rightarrow 1 \in m_x$  [as  $a \in m_x$ ] Contradiction.

Hence,  $1 - xa$  is a unit  $\forall x \in A$ .

$\Rightarrow a \in J$  ✓

11.  $R: \mathbb{Z}[x]/(x^2+1)$

a) To show  $\mathbb{Z}[x]/(x^2+1)$  is Principal ideal domain

pf  $\mathbb{Z}[x]/(x^2+1) \cong \mathbb{Z}[i]$   $\mathbb{Z} \rightarrow \mathbb{Z}$

[ Surjective map  $\theta: \mathbb{Z}[x] \rightarrow \mathbb{Z}[i] \quad x \mapsto i$   
Ker  $\theta = (x^2+1)$  ]

Claim:  $\mathbb{Z}[i]$  is Euclidean domain. Hence also a PID.

Define:  $\theta: \mathbb{Z}[i] \rightarrow \mathbb{Z}^+$

$a+bi \mapsto a^2+b^2 = (a+bi)(a-bi)$ .

$\theta(xy) = \theta(x)\theta(y)$

Let  $(a+bi) = (p+qi)x + (r+si)y$

$a+bi ; p+qi \in \mathbb{Z}[i]$

$$\frac{a+bi}{p+qi} = \frac{(a+bi)(p-qi)}{p^2+q^2} \in \mathbb{Q}[i]$$

i.e.  $\frac{a+bi}{p+qi} = \alpha + \beta i$   $\alpha, \beta \in \mathbb{Q}$

Let  $\alpha'$ , and  $\beta'$  be nearest integer to  $\alpha, \beta$  respectively, i.e.  $|\alpha' - \alpha| < \frac{1}{2}$ ,  $|\beta' - \beta| < \frac{1}{2}$

$$\text{Let } r = [a+bi - (p+qi)(\alpha' + \beta'i)]$$

$$\text{then } \theta(r) = \theta(p+qi) \theta[\alpha + \beta i - \alpha' - \beta'i]$$

$$= \theta(p+qi) [(\alpha - \alpha')^2 + (\beta - \beta')^2]$$

$$\leq \theta(p+qi) \left[ \frac{1}{4} + \frac{1}{4} \right]$$

$$\leq \frac{\theta(p+qi)}{2} < \theta(p+qi)$$

Hence  $\mathbb{Z}[i]$  satisfies euclidean algorithm with  $\theta$  as its euclidean function.

$\Rightarrow \mathbb{Z}[i]$  is E.D. Hence a PID.

(b)  $p \equiv 3 \pmod{4}$  prime To show  $p\mathbb{Z}[i]$  is prime ideal in  $\mathbb{Z}[i]$ .

Let  $\alpha\beta \in p\mathbb{Z}[i]$ .

$$\Rightarrow \alpha\beta = p\alpha' \quad \alpha' \in \mathbb{Z}[i].$$

$$\Rightarrow \theta(\alpha\beta) = \theta(p\alpha') \Rightarrow \theta(\alpha)\theta(\beta) = p^2\theta(\alpha')$$

$$\Rightarrow p^2 \mid \theta(\alpha)\theta(\beta) \Rightarrow p \mid \theta(\alpha) \text{ or } p \mid \theta(\beta)$$

WLOG, let  $p \mid \theta(\alpha)$

claim  $\alpha \in p\mathbb{Z}[i]$ .

Let  $\alpha = a + bi$   $a, b \in \mathbb{Z}$ .

$\Rightarrow p \mid a^2 + b^2$ . Hence, either  $p \mid a$  and  $p \mid b$  (in which case we are done) or  $p \nmid a$  and  $p \nmid b$ .

Let  $p = 4k + 3$   $k \in \mathbb{Z}$ .

$$a^2 + b^2 = 0 \pmod{p}.$$

$$\Rightarrow a^2 = -b^2 \pmod{p}.$$

$$\Rightarrow (a^2)^{2k+1} = (-b^2)^{2k+1} \pmod{p}.$$

$$\Rightarrow (a^{4k+2}) = -b^{4k+2} \pmod{p}.$$

$$\Rightarrow a^{p-1} = -b^{p-1} \pmod{p}.$$

If  $p \nmid a$  and  $p \nmid b$  By Fermat's little theorem

$$a^{p-1} = b^{p-1} = 1 \pmod{p}.$$

$$\Rightarrow 2a^{p-1} = 0 \pmod{p} \Rightarrow p \mid a \text{ contradiction.}$$

Hence  $p \mid a$  and  $p \mid b \Rightarrow \alpha = a + bi \in p\mathbb{Z}[i]$ .

$p\mathbb{Z}[i]$  is prime  $\square$





Chapter 10  
[10/10/10]

Let  $\alpha = \sqrt{2} + \sqrt{3}$  and  $\beta = \sqrt{2} - \sqrt{3}$

Find the minimal polynomial of  $\alpha$  over  $\mathbb{Q}$ .

Let  $x = \alpha$ . Then  $x = \sqrt{2} + \sqrt{3}$

$$x - \sqrt{2} = \sqrt{3}$$

$$(x - \sqrt{2})^2 = 3$$

$$x^2 - 2\sqrt{2}x + 2 = 3$$

$$x^2 - 2\sqrt{2}x - 1 = 0$$

$$x^2 - 1 = 2\sqrt{2}x$$

Square both sides to eliminate the radical.

$$(x^2 - 1)^2 = 8x^2$$

$$x^4 - 2x^2 + 1 = 8x^2$$

$$x^4 - 10x^2 + 1 = 0$$

Therefore, the minimal polynomial is  $x^4 - 10x^2 + 1$ .